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P(5,8) il (1,2) (=3 , ~1) ol Sl ol ol 5 301 1T @)
P(1,7) 25 o(—1, 3) (=4, 1) ¢l Sl o i)l 5 1 2 @)

3,

2
3

4

. K1 w £ . w, 8 “f w t( 7 s o8y B z

@ :y=3x-4,P0,0) Gl:y+2x:5,P(1,_7l) el:x:%l,P(%,%)

Y1 gl

FR
A

A 1 o oo S o/...‘,‘%/’}’z

Q =x-1 Q@ +2:c=1 Q2 +5c-7=0

y=x-7 y=-2x+16 2y+5x-11=0

el B e i 5 Tadsed olales 3 slontll Ja) ooy

AB; Claledd) ul, 50 3 31 @

ABC ) a3l i Ls 3T )

(\J}\j\ﬂ&wéw u.\?-jdso\.q.\&)

T2 i 0 NI Eot sl 5 B 55 St e, @
f 88ls 0l T Loleadl Sl sty 3 B 4 B frus s ols y = 222
Bilaills )l o

< <

(J\AA\XOL}W6M abj&SQ )




¢nilanyl glayyl
Coordinate Proof

L@.Asz O 1»1,‘J|»Y|6M|@w|um‘wysr~,l

Jo Vs U s 2aals S b S @ 208Ul 2h 46 Ik Rl A Gl e @)

3,

5
“
-]

- s s - I’ # A LS P $ w E
EREY S JEPHE) SANNEIY ;| agebd b s Gl el @
w Pl "\3—-3-
AN IS Gp JS2 IS S Dpeml SoY d T
»‘w @ S (s ) e (5 ) NEL
ylk B(? ?) ylk y‘k
(0, a) ’ Y27 W0 G(%,?) F(5b, 2b)
D(0,9) )
b A A(a, 0) x ‘O"S(tl, 0) T(b,0) X ‘O, D(0, 0) E(5b, 0) X
& ¥ w
sl nglj:i e o
Az yA R(,D)
F=bo | E?
< 5 < 2 < 0 >
0y D(a,0) 0} P(0,0) Q(24,0) D(—2h, 0) l E(2h,?) x

J.i_wjlu_e w\uu;&q!&wlﬁ L}i_.,d\&_e LLMJ\_)\_@,J,.,‘J\&W_.“\Q

i\ \
i\ \

.AOPQ = AQRO AODB = ABDC
Q(h,k+j A
n gt Y C(2j, 2))
R(0, j)
D(j, J)
P(, k) ) .
04(07 0)‘ x’ o(o, 0)" B(2j,0)x




Snilull @uyll Glygi




Cnilull @uyll Glygi




Snilull @uyll Glygi




Cnilull @uyll Glygi




alsija Glgi




alsija Glgi




